Math 11
Trigonometry Exam Review

1. The area of a triangular flower bed is 200m®. Two of the sides are 20m and 35m. What is the measure of the
included angle?

Jif ', bc SinA
200nt="12,(20m)(35 m)Sin A
DOOM* = o, (TOOM2) SInA
QOO M= 3BE™M *3inA
350m* .356m?2

s TR0 88 <n

2. Find the area of the following triangle.

'q o, Qo

="'l ac Sin B
A = 12.(03m)(12m)Sin 111°
A= 19,>(656m*) (0.9336)
A="12(1546. 009 2,M%)
A= TT73.0 m?



3. Abus travels the following route as shcrwn.cl)etermine the area it covers to the nearest 10km®.

A=, ac Sin B
Vabs '/Q,(@IHm)CISHm)Sm‘TI“
A= 12313 Km*)(©.9455)
A= 2 (297.8325 Km*)

A=1KM5.92 Hm?

4. The boundaries far a zoo exhibit which houses the monkeys fcrms a triangle as shown. Determine the length of
the third side to the nearest tenth of a meter. n O

b%=a*+c -ﬁzuc Ccos B o
b =(453)% (88.5)-2(45. 2)(58Seoslis
b= 205209+ 34 22.25-5300.1 (-0 R ca5)
L2= 54774 3N+ 9488 . 35
b*= 7962.69
L= 84.2m



5. Asignis supported from the side of a building by two steel struts, as shown below. Find the length of the struts

from the information given in the diagram. A
<B=180=43°-7|°
<R= ° |
B 66 17m C. —
a =.b b SinC SinB
SinA SInDB c Q= 1
a = 11 Sinlt Sine6®
Sin M3° Sin66° C Siab&’= 178inTl°
a 8inGb°=L18nHS SInEe"  Sintee
T e Lo Sin 66°
SinGe C = 176m

a=12.77Tm



6. During basketball practice the players performed the following drill. Player B threw the ball te player A, who
directed it through an angle of 58" to player C as show in the diagram below. To the nearest degree determine

the measure of the acute angle 8 in the diagram.
C * C \'Elna c

SinC = Sin A 0 7.5 %0 9.5/

cC o 9.5m
Sin C = ____S’-“Sgo - 58
‘m_ 9.5m B 9.0 m A
M: 908SIn3§° &
Q- 9.5

Sin C= O. 8O3
== Str‘m"CO1%OB"4J
C=583"°



7. Alightening rod is anchored to the ground at point A, 76.8 m from the building at point C, as shown in the
following diagram. Find the length of the cable AB to the nearest meter.

< (= I180-60%50° oR <(=[80-110° &
70° = r70°

o

¢ = _b
SinC Sin B
SInT70°  Sin6O° b
C 8nd*= T16.8¢in 70°
Sineo® Sin 60°
¢ = *16.8(0.9397)

0.660
C= 83 3m,
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